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             PLANTS WORKSHEET - 2 
 

1. Leaves are attached to the stem at 

(a) Internode 

(b) Nodes 

(c) Apical meristem 

(d) Axillary meristem 

 
 

2. Anther is a part of 

(a) stigma 

(b) stamen 

(c) ovary 

(d) petal 

 
 

3. Pollen grains are collected by 

(a) Anther 

(b) Carpel 

(c) Stigma 

(d) Sepal 

 
 

4. Which part of the flower become the seeds? 

(a) Ovule 

(b) Ovary 

(c) Anther 

(d) Stigma 

 
 

5. Which is the male reproductive part of a flower? 

(a) Stamen 

(b) Pistil 

(c) Stigma 

(d) Style 

http://www.thewinningedge.co.in/


www.thewinningedge.co.in 

 

 

 
 

6. Seed is 

(a) developed ovule 

(b) fertilized and developed ovule 

(c) developed ovary 

(d) fertilized and developed ovary 

 
 

7. Outer seed coat is 

(a) Testa 

(b) Tegmen 

(c) Hilum 

(d) Funiculus 
 
 

8. Sweet potato is a modification of 

a) Leaf 

b) Primary root 

c) Adventitious root 

d) Underground root 
 
 

 

9. Which is a shrub among the following? 

(a) Spinach 

(b) Mango tree 

(c) Lemon 

(d) Pipal 
 
 

10. Which of the following type of plants has thick, hard and woody stem? 

(a) Climber 

(b) Shrub 

(c) Herb 

(d) Creepers 
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ANSWERS: 

 1. (b)  

2. (b) 

3. (c) 

4. (a) 

5. (a) 

6. (b) 

7. (a) 

8. (c) 

9. (c) 

10. (b) 
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